Section 1:

Express number in word form:

1. 6,257 six thousand ; +wo \numai\reei ﬁe?%;%ezwm
2. 8,540 eigot tnousand, Live hundred 'QW‘E'
3. 7,601 Seven thoysaand, 51X hundred one

Add. Use mental math.
4. 28 +56=_%%

5 34+49=_ %%

.1
6. 17+67=_8%  xt

%
7. 58-47=_11 _L_-Jy”gg
4t
_ IS5 K

8. 155-53=_I10Z -5

foz

Express number in expanded form:

9. 9,304 9000 + 500+
10.3,052 3,0001 50+2
11.1,643 1,000 + (00 + 40 13

Order the numbers from least to greatest.

12. 9,143 9,034 9,134
9,034 4134 94,143

13. 3,256 3,279 3,238
2,233 3,256 3219

14. 7,425 7,429 7,420

7,420 7425 1,929




Find each missing number. h o HTO

A
15.10 more than 2,863 is 2}5"73 1,803
16.100 more than 829 is __32.9 . 929
17.1,000 less than 4,059 is ?3}&5‘1 . 4,059
Complete each number pattern.
18. 8,625 8,725 2.€2% 3,925 9,025
19. 862 062 |,o<oz. 1,162 L2421

20. 6,215 Co,HS’ 6,015 5,355 5,415

Solve.

21. A grocer sells 548 apples and 470 oranges.
Estimate the number of fruits he sells altogether.

p4
543) — 550 oc S(E > 500 The grocev SeWls
— o
nédrest % ﬁ@ ~¥I¥500 albout 1,020 or
10 4 1,0%0 ne avest b 000 1,060 fruits a\!“%"zﬁafﬂﬁﬁ
100 ¢
22. Circle the mystery number. Use the clues to help you.

118 (96) 61 47 54

Clue 1: The digits in the number add up to a number greater than 10.
Clue 2: If | count in steps of 2, | will get this number.

|, 9+06= 15, greate™ Yhan O,
2. Q¢ 15 an evea A be,



Section 2:

Subtract. Use mental math.

v -3
1 94 - 32 = - 32 Py
) e . o ~A20) 5g-50=2%
, i y 283 = 15
_ 7
3. 72+25=_97 = |
4. 65+38=_[0D 17 les
¥ 43 F
5, 51-19=_J312 45U TAD
e 103
Z 21
Express number in standard form:
6.  eight thousand, six hundred twenty-nine 6}.&? 2.9
7. four thousand, seven hundred thirty ij”i 20
8.  seven thousand, ten 7,01 O
Solve.
o3b2x6= 310 10. 113x3=_33%9 1M 21x7= 1471
1o X2 A1
212 239 V%7

Complete by rounding each value to nearest ten and hundred.

value nearest ten nearest hundred
12. 139 :
13. 658 @ WP@(‘;O
14. 1,099
\,0 i@w | 100
15. \What number is 500 less than 6,125%? answer 5. Co?., S
5%\ 15
- 500




16.

17.

Jesse bought a toy for $28. 3 Z‘ Z 4 g; 7

She paid $19 more for a model car than she paid for the toy.%, i g _;_2_3
T

How much did Jesse pay in all? g L} “1 ﬁ?

a. $47 b. $57 c. $65 (4 $75)

What is the smallest four digit number that can be formed with

the digits 3, 8, 0, 7? answer_3,071 b4

Solve. Draw a bar model to help.

18.

Meena, Fiona and Jacob share a total of 320 seashells.
Fiona gets 140 seashells.
Meena gets 90 seashells.
How many seashells does Jacob get?

' : p 40 2$3%0
E’ Tre : ¥ 4o =230

Fiona Meena  Jucoh

“Jacob %m A0 seasielis.

19. Mrs. Johnson buys 68 posts and some wire to make a fence. Each post costs
$7. The wire costs $46. How much does Mrs. Johnson pay for the posts and the

wire?

"? Cost for all ?0‘5"%’&

() |y
¥ F 410
K 47 b Wl (wive)

5¥16 Fs22
)\/lrs, j@\ng\§gn pmd ~§522 'f;lv’ 4he wives @\ﬂA {?QS‘”&”S"



Section 3:

Solve. l
35 5E0¥
|
1. 635 +249= 8% % t%
_ o7
2. 508+271=_ 179 5)934
3 The sum of 3,684 and 2,700 is _(0, %84 L 42,100
7 L B
lo,® g

Solve. Show your work and use bar models to help.

4. Mrs. Tan buys a duck and a chicken. The mass of the duck is 2,300 grams. The
mass of the chicken is 1,675 grams. How much heavier is the duck than the

chicken?

2,300 groens
/"\""A—m\\ 1.9 10
CAU»(_,K Tﬁ Pﬂ)ga&
_ g)@Tg
Chicken {’;":_ij’_\f\) 415
l @‘TSQw’wms ?

The duck 15 L2725 grams heavier than the cnicken,

5. At Hillside Elementary School, there are 1,253 boys and 1,624 girls. How many
students are there at the school?
5155
e
Boys 1
1 ?

(irls im | j

N

|, 624
\)‘2,'52
X 1,02 There are 2,871 Srudents at

"2»;?_1? H; !§$E&€" ﬁgﬁmgm+&W7 .SCL\(]C)O\;



6. Complete the number pattern.

30 80 180 330 530 parrern fule’ increase by 50
Wore eo.c vt TINE.

7. 1 am a 3-digit number that is less than 500. 98 fi because, ,., 4xz2=8
My ones digit is twice the hundreds digit. ond, g+r=lo+i= Ef-
The sum of the three digits is 14. oY 25k

oY U42g
Answer: 234’} 5‘5’(@3 423

What number am |?

8. 45+5= ~100. The missing numberis SO
a. 30 b.70 ¢. 130 150
H5+S = |50 ~1bo
(EO') ({ 50)
9. In the number 8,3_96 what is the value of the digit 27
Th H T o
XY . 200
32__% A Answer: 2.
10. Subtract 989 from the sum of 1,857 and 2,465.
I V2.0
), €57 4%
2,465 - 4%9

Answer; Q)j?) 33

H, 522 3,333

Solve. Show your work and use bar models to help.

11, Allison jogs 3,860 meters and Calvin jogs 5,470 meters.

How far do they jog aitogether?
3,860 merers

e
Alisen ( \
C«r}v\v\‘f\ L

L
3,860
¥H 0

9,330 A son and Cabwan ‘30‘3 A, BH0 et cs C&H’Oﬂ-ﬁ%\é"lﬁf:

5}’{{} m%.‘p



Solve. Show your work.

12. Marbles per bag:

Bag A: Bag B: Bag C: Bag D: Bag E.

1,138 2,786 1,412 4,354 5,688
Jane takes Bag B and Bag D.
Karen takes Bag E.

a. Who has more marbles? ‘?.)Ll % l

A
Jane has maore 7,8 4o = Vune's pacble g
mackles,
5, 5¢8 = Laren’s tarbltes
)

b. How many more marbles does she have?

b\3
GT, et

- 5,588
o
1,552

Tane has 1,552 wore markles,

Solve.
t | L_ 83 Vg
13. Add 2,659 to 784. The sum is more than 555. 2,659 2‘45,%‘%&73
(b 200) v 139 - 555
b. 2,878 b. 2,888} c. 2,988 d. 3,988 = 5),'“_{3 2‘)3%’8
il
14. 2,573
+ 1,989

15. When you ﬁ?ﬁf“ owp 23 ones, you get2tensand _3 ones.



Section 4:

Multiply mentally.

1. 4x30=_ 120 (d4x3=\)

2. 9x200=_1, %00 (ax2=1%)

3. 8x8= ggg
4. 5x8= %C)
5 7x70= W90  (7RT=449)

6. 9x9= 3}

Solve. Show your work and use bar models to help.

7. A refrigerator costs 5 times as much as a television. The television costs $429.
What is the cost of the refrigerator?

E424 24y
PPy, $429
X9
, 1445
j b1

v - - .
7 ‘TL\@, FQQ:*‘@@E&%@W oSy s §2,\ S
8. The students in class 3A buy 500 packets of seeds to start an eco-garden. On

Monday, they use 27 packets of seeds. On Tuesday, they use twice as many
packets as on Monday. How many packets of seeds do the students have left?

L1 packs of seeds

2
77 s |
LS =gl The Students in 3A have H1

SRR packs £ seeds Lele,



9. A store records the sales of its toys in the tabie below.

MONTH NUMBER OF TOYS SOLD
January 180
February 90 more than in January
March 3 times as many as in February
April 320 fewer than in March
a. How many toys are sold in February? }g@
+ 40
210 “T1e
b. How many toys are sold in March? %,
LS
£10 g10 L
c. How many toys are sold in April? 1@0 150
- 320
£ 90 EEL z10
d. How many toys are sold altogether during the four months? 310
J “%”a‘%‘qa
\;"’T 50 1,7 1,750
[
10. 358 11. :%2 12. 1%6
X 2 x 6 X 7
Tile 411 gE L

Solve. Show your work and use bar models to help.

13.  Sophia prepares 38 cheese sandwiches and 46 tuna sandwiches.
She puts the sandwiches equally onto 3 platters.
How many sandwiches are on each platter?

H
Cheese C::\ 78 nes "Tum E .

Tunoo \ ‘
Ch e@s-eh \ |
#\35 ?Qﬁ .eucg“é‘\‘\ P\OL"W‘QE“‘
s
2% 3Wi¢?,°? Sophia purs 28 Sandwiches on
m%.i« T A ‘\)\&M‘M,



14.

15.

16.

17.

18.

Maria has $500. She buys a pair of shoes for $108. She gives the rest of
the money to her 4 nieces. Her nieces share the money equally.

a. How much money does Maria give to her 4 nieces?

$s500
N e " 9§D
Maria’s | ] BSee
Money - 10%
_—— e — "‘““"'31:1 g..
Shoes E:j,.m — 4
\,_.-W\_.J——"mv-‘-\-..v_j
Jrod K Mavria 8N€S er ﬂéecé,$$3q1-
b. How much does each niece get?
392 Ty
e T e
il s i i i I %
ec. _
‘ ) ngz
2
Each nie ce ‘ojers 348, =32
In 5,786 the digit 5 has the same value as S X 1,000 ©
a5x1  b.5x10 ¢ 5x100 (d \ 1,600
=2
@JOD ')

What is the product of 346 and 9?

LY

WLo

.

37\ 1Y — i ﬁxPanc‘&A Covrm =
2,000 + 100 + 14

a. 300+ 14 3 %
b. 3,000 + 14 ¥
c. 300 + 100+ 4

. 3,000 + 100 + 1

Divide 87 by 6. Th inderis 3 LLF3
ivide y e remainder is G %,;7
a2 c. 4 d. 5 ——
, -~ 2.4

Find the greatest product of a 3-digit number and a 1—diéit number using
each digit below only once. (3 5 6 7)
o

2.
Clue: order daﬁfﬁfs AIEIRE
_Q»v(ﬁm eate sy
Yo \e,oéjr ¢ X E
muttply by 1) ' v, |

%\"’@a vest di 3}‘%’: }




Section 5:

Solve.

1. Sally and Joshua have the same amount of money.
Joshua pays $9.10 for a bag and has $16.25 left.
Sally buys a pen and has $19.60 left.
How much does the pen cost? ? ‘

. h.#
R — = N\ 2GS "iikga '{g 5
:YO 6%\& o [:{ 2o i~ ,\$L_ eﬁtmmi; j o 10 -] c? o0

£9.0 T Sibls 625 20 Fs 15
Sally [ TErefr | Fenl
o

$19.60 ? Cost
The Per O ally boujh-i— cost $5.715 .

2. Isaac buys a block of cheese for $5.70, a bottle of olive oil for $11.25, and a
package of frozen chicken wings for $18.99.

Isaac gives the cashier three $10 bills, two $5 bills, and four $1 bills. How much
change will Isaac get in return?

Tsadc pm& e $30.00 (2 %$10)

g b

1
%;:)g?:zg 410,00 (2¥55)
316949 g .00 (XD
s R ——.
395,44 = Lsacc Spen Tyt 00
T 212 4\ WM,.,_»/”“/
e o
- 2%.94%
.00
Ysaoac will ot § 4.0l
" c‘ﬂawﬂ&. . 2
3. Mr. Lim buys a sweater, a handbag, and a watch. $10%.90 (zweare) § {09 90
The sweater costs $108.90. :E_i{ifi Chandbecd) o . Lo
The handbag costs $60.30 less than the sweater.  "§y 7 L0 (handbea PN
The watch costs $50.50 more than the sweater. L{‘ fj i ELiw
Mr. Lim receives $33.10 in change. §10%.90 $2106,90
How much did Mr. Lim pay the cashier? + 50.50

iSRS

} g - 4 \n
553!;;,0!0 (4—04%\5 Cost) 3,\5’61\.“@&: (we C,)

e B30 (fc%aw%&ﬁ
Bas000

My, LM f\ba\& e cosShner £2350.00 .



Add or subtract mentally. Use number bonds to help you.

4. Find 45 + 23.

@ Hs 4+ 20= b5
@ 5+ 3= 0¥
)

S0, 4S5+23= L8

5. Find 87 - 34.
<1 57
(30) -30 -
@ o 51 55
S0, &7 -34 =53
6. Find 92 + 96.
(8) (&)
q |o ‘qz_
\00 1’00
F100 - 12 so, b

e S % e
2060 \ 3



Solve. Use bar models to help you.

7. Helen puts 14 bread sticks in a basket. Her friend puts 17 breadsticks in the
basket. How many breadsticks are in the basket?

8. The third grade class has a new aquarium. There are 21 fish in it.
15 fish were given by families. The rest were bought by the school.
How many were bought by the school.

\2-“

(o .
The <chool \O()us\rﬂr G Lish.




9. There are 147 fish in a pond. 49 of them are black.

The rest are orange. How many are orange?ﬁ._I

— p— — '3
Fish _ _*tt‘z,
O il TR _ . 2 3
Solve: Hq Black o 93
10. ‘F';-Sh ¢ _q__\ S\'\
There ave Q¥ orange Lish.
18
4)4 8
4 D
)
3
@
11.
9 2
2)6 4
-bOo
Y
=9,
12 O
L i
4)5 6
D
| b
)




3 6. 2[5
13 . 1|33
2(%% ~20
13. 86+2 = 43 g |€
G ~1&
14.38+2= | 9 -6 -
15. 75+4= |8 r3 .
5 . 1€e 3
45
. o
Section 6: 25
-32
Solve. Show your work. 3

1. Maria has 48 pencils. She gives the same number of pencils
to each of her friends, and she has 3 pencils left. Each friend
gets 9 pencils. How many friends are there?

r3
'Tkere are 5 ‘Ffl'ﬁﬁds ) Cl-':!fgﬁ

3

Round each number to the nearest hundred.

2, :%0 300
3. 882 _ Q00
4. 550 __ 00

Round each number to the nearest ten.

5. 5 _ 20
6. 99 _ 100
7. 150 _1bO



Divide:

8 72+6= \2 l 2' q
8. 62 1x7=449
9. 49+7=__1 -bo i
12 ‘1‘1‘:‘7- 1
10.64+8= _8 - |
0
10 €= 61
(4= %=%
Add or subtract using mental math.
11. 99+42 |41 . 100+42=142 13. 50t51=10|
12. 198 -97 10| Myo-1 =1[4] 1ol- 1=\00

13.49+51 100

2. 198-9%= 100
loo+ | =10}|
Divide to solve.

14. Three friends share 56 cards equally. How many cards

does each child get? How many cards are left over? 15R 2
56 3156
cards /'\‘hl'/ﬂ - 30
26
4 -
7 | ._j_

tach friend g.ets R cards. 2 cards are (eHover. 2

15. Timothy packs 60 bottles of orange juice equally into four
containers. How many bottles are in each container?

GO (|_5__

N — H 160

botles = — llh
e ™ 20
JUACE b - 3
There ore 15 botHles of o

orange juice in each ortainer,



Section 7:
Subtract:

1. $37.65
- $16.03
§21.62

Y
2. $85:00

- $21.60
96340

&

3. $36178
- $14.95
1263

69
4. $7DN00

- $28.20
.26

Divide to solve. 5%€

5: Paul has 58 bicycles in his shop. b\'c cles l l ]
He arranges them in 5 equal rows. Y _

a. How many are in each row? ! Lo
b. How many are left over? 5|52

There are |\ bl'(_ydes N eadﬂ-ow. -30

- ——

There are 3 bicycles [eft over. i
3

Estimate first, then solve.

6. A tennis club orders 715 tenrl1i§ balls. After some matches, —15-700 415
318 are worn out. The remaining matches W!I! L.ISG 415 balls. 3|g5300 - Yoo
Does the club have enough balls for the remaining matches? i e

iub Hoo 15
715 415

-2 =-A7 __E:ﬁ club does rot+ have er\owal‘\
397 : IS_ s for +he re,maxn;ng matches .

——n"e—y need 18 moce .



7 'éhetdrama club$r;aass$4016“tﬂo spend on th; next play. $|1g5~> %200
ostumes cost .00. Make up costs $176.00.
% - %
What is the total cost of costumes and make up? How 6=+ iiclg_-
much money is left over after buying the two items? 460
B b

|
ﬁ'lgs 230! The total ost of costame s

+& (10 ¥ 55 and makeurp is¥30 .
#36 | $55 is left over after lpuyfng
“+he twe i+ems.
8. Rick has $99.00. He saves another $46.00. How much i"lﬁ_—: j ©0
money does he have now? l 167 20,
®49 $46 *150
Rick's L l 4344
MOﬁQ(d \/"v“—\/ ‘ l‘f 5
I'4

Rick has BHS nowo.

Use multiplication to solve.

9. Mr. Brown has 9 mirrors.
Each mirror has 9 sides.
How many sides do the mirrors have in all?

qx9-=28lI

The Nine mirrors have 2) sides in all.

10. Pencils are given to 4 children.
Each child has 6 pencils.
How many pencils do the children have in all?

thx6 =24
‘e hildren have 24 penals in all



*0

11. Andi has nine dolls. Ardi’ s
i's

Each doll costs $6 dalls l

How much do the nine dolls cost in all?

Q26"
Andi's hine dolls cost $54 inall .

12.4x B = 5 xa=20
310x A = 41 x1=9

CQO000

000000

000000

14. Look at each array model, then fill in the blanks.
G rows G rows
ot 2 = G¢2= 12 oF 53 (*5230
10l
§§o§ il
a6 12 41824 30 36
. a035 42 48 54 60
% tb +% +o

Solve:
15. 18 = 3 X 6

16. 36 = fQXG
17. 54 = EI X 6



Section 8:

Divide mentally. Use related multiplication facts and patterns to help you.

1. Find 350 +5
350 +5= 35tens+5
= “1 tens
= 10
2. 700+7= |00 “10="1=106
3. 560+8=_10 Se=%="1
4. 6400 + 8= 200 G4=¢:8 (40+8=E&O
5. 7200-9=800  72+9:¢ T20+9:%0

Solve. Draw bar models to help you.

6. A letter carrier delivers 999 letters in two days.
The carrier delivers 306 letters on Monday and
the rest of the letters on Tuesday. How many
letters does the carrier deliver on Tuesday?

aq
m
P ol
letters . 1
\/«/‘*J\/\/\—j
306 mqndd«j 7
419
- 300
a3

The carrier delivers 613 letters on Tuesda,:j )



Multiply.

7. sx2= 16

8. 9X6=_H4

0. 6x8=_4¢

10. 7X5= _35

11.9X4= 30

12.7X3=_ 2|
Divide.

13. 108 divided by 12 = ,j___

14, 121 dividedby 11=__ ]|
15. 75dividedby 5=__ |§

2-12
|0& - 12-12-12- 12~ 12 12-12-2-1

qx122108
1€ =12= 4



Section 9:

. p

Fill in the blanks. 0 5.56'0 o 2) 4203 3) l?ﬂ@D
1. 5600is | ,020 more than 4,580. -—q-é%—% 100 - G5t
2. 7,203 is 100 more than 1,103 1,0 7,103 346
3. The difference between 654 and 1,000 is 346
4. 3,000+ 400 +25=3425. 6) ;{ €l
5. The sum of 4,681 and 500is 5,1€] . Py '500
6. 5,642 in expanded form is:

5,000 +600+4O+2 PR

7. In 1,863, the digit (Yo is in the tens place, and its value is 6 Q . 5[—-
8. When 349 is divided by 5, the quotient is ©9  and the remainder is "" ‘ -%L!r?o
i
9. Complete the number pattern. 5,576, 5,676, 5,776, _5.816, 5, 1%, 6,016 —
+leo  Hod ' ' ’ 9

10. Which of the following is the best estimate for the value of 386 x 8?2 2WeL—2>400

x €

863 6,300 3,500 13,200 3,200
11. % + % + % =27 q +9 +4=-2"1 =9
qQxg=712

C+ € +C+C=32 erg+g+8:32 (=%

Find the value of:

* x (= 2.
12. Solve these problems.
) 2 2 '
149 450 402
X3 X5 x 8

q41 2250 36



13.There are 48 cows on the farm. There are 4 times as m;my cows as pigs. How

many more cows are there than pigs? P R,
- v 4
: - 40
\qS T
al b7 -&
% units= 4T 6

luni= 12 There ase 36 meré€

Cows+Hhan pigs -
14, Mr. Ling earns $3,200 a month. He spends $475 on food, $1,500 on other 2 119

things, and saves th&, esf. How much dr?rc_e‘s h&savc:::'z;nonth? ¥ 1,500 tg')e_ia(;
r=?—£——"3\ filing +#15 -7

15. The washer costs $1 367. The dryer is $421 less than the washer. Louise
bought the washer and the dryer. How much did she pay?

i | :
/-\‘I’je\/-\ A [T OB

washer | mr}“’ ;ﬁi $4,367
dryer s ' @ —_—

(f-hsz_/ RS T ’qt_l 6
. L
Lowise pau'cl $2 213. $),367
16 *% 946
| 32313

g
Round 5,%30 to the nearest 1,000. ,5 OOO

>
Round 7,986 to the nearest 100. g‘ 000

~N
Round 6,675 to the nearest 10. CD, G)KO



Section 10:

Solve.
1. $3.20 2. $4.65 2. %865
+$4.75 +$5.33 -44.00
5. $8.65-$400=1'1.65 4. %910
4. $9.70-3060=%9.10 ~ #.60
910
3. Place the following digits in the boxes so that the sum of the 3-digit numbers is

999. Use each digit only once.
1 2 3 4 5 6 7 8 9

l € 9
2 G 1
+
5 | [+ 3
9 9 9
3 P
6. What is the missing number? _pfl'js xza;
L-{ 1 —> subtract 18 —> multiply 3 = 87 29 —-:8';,"

7. Complete the following number pattern.\+2= 3 3+5:8 §+13* 2\ 2-“3"}:55
123581321, 34 55 2435  5+8313 13+21= 34

8. Circle the number that has the digit 7 in the thousands place value.

a. 6,970 c.9,607  d.9760
hu.ndrgds

tens ones




10.

11.

12.

13.

14,

$24ay¢

Jane has $298. Linda has $47 more than Jane.

Lin Ada C |

How much do they have in all?

a. $251 b. $345 c. $549 d. $643 1 \
$29% $'3q»5 G-
¥ 11 +198
i & 3 r(’qs
30 tensis more than 49 fives. - q N:)?
=300 23¢9
a. 19 . 75  d 251 S0+ens=3 ﬁ@ ~145
i i
4S S
lan buys some magazines for $8 each. He gives the cashier $100 and receives
, | Z
$4 change. How many magazines does lan buy?
102 89
a. 8 b. 9 c. 11 2 e _go
16 I o
-Le
| divide a number by 3 and subtract 85 from the quotient to make 190. &
i 2 ! i+ By . ]
What is the number 146 rg?
8§ 3
a. 35 b. 92 ¢ 315 + © :Q;Q__Q.
215 225
[ -210
. 13y =it
Multiply 124 and 8. { £
X 8 -
answer. 192 a9z %
19
The sum of two numbers is 300. One number is 206 more than the other
number. What is the value of the smaller number? i 2.06
answer: 47 #1 [ i
200
#2 L d
\_/‘V\—/
?
\-(
300 2)94
— L0 _%0
1% t4
o
____-f

(@)

f\.aL/'\
Jane L1 341 ¢ 7b



